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QUESTION 1

Which processing logic can be performed by an EQ?
A. Equivalent values are converted

B. Behavior of the application is altered

C. Derived data is created

D. Both A and B

Correct Answer: A

QUESTION 2

A development project has created 450 FP in application functionality and created 45 FP in conversion functionality.
What is the DFP?

A. 45

B. 405
C. 450
D. 495

Correct Answer: D

QUESTION 3

Which would be measured as multiple EQs?

A. Queries with identical processing logic, displayed on different screens
B. Graphical displays with no calculations and different processing logic
C. Multiple methods of invoking the same inquiry logic

D. Both A and B

Correct Answer: B

QUESTION 4
Which of the following statements is a characteristic of the GSC - complex processing?

A. Development of the application is influenced by how the development was carried out
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B. Development of the application is influenced by the complexity of data communication
C. Development of the application is influenced by the complexity of the processing logic
D. None of the above

Correct Answer: C

QUESTION 5

An enhancement project adds 4 new EOs, changes 4 EOs, and deletes 4 EOs. Each of the EOs has 10 DETs and
references 3 EIFs. The TDI remains 31. What is the aEFP?

A.19.20
B. 26.88
C.57.60
D. 80.64

Correct Answer: C
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